JO0o0d0o0o0oooodoooo pPDFOOOOOODOO
OJ0ooooooOn
https://www.100test.com/kao_ti2020/16/2021 2022 E5 85 AC E
5 8D AB E5 8C BB E5 c22 16182.htmI 000 0O
D0 doboooooodooroodoooobooood
Jododobooodoodooooooouoooooa
Jood* 0o dodoooobooooooooooo
JoooooooX)oooooooooXgooooy
J0o0d0oodoooooooooyoxoooooooad
J0o0doo0oooodoooooooooooooa
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
Jododoboboooodobooouoooooooooa
Jododobouoodobooooooooouooboo
Jododobooodoodooooooouoooooa
Jo0odooooooodoooouoooooooooa
J0o0dooooooodoooooooooooooa
Do0o00o00O =abxX@bu@aHuoXxoooooovdo
dyOUOOUOOadOOoooooX=sooooooooo
Jodododbd0b Odooooooodououod
JodoXoooooooooooo@o)yoooda
ObdODO0oUoooooooooobooooooao
Do oooeildoboouoodonouoonooood
Jododobooodoodooooooouoooooa
Jo0odoboooooooooooooxXyooood
OMUoodoooooooooooooooioood



00(@O09)00OYXOYT YOS X2OS Y205 XYO 2.0
OXO YOS (X-X)20 5 (X-X)(Y-Y)X=5 X/n=15.1/15=1.01Y=
S Y/n=222/15=14.80F (X-X)2=Y X2-(3 X)2/n=0.2093

T (X-X)(Y-Y)=F XY-S X3 Y/n=-1.78003.0 000 0 0 b0 O
Da0b0a0 0000000000000 O0D0O0OO000DOO
00000000 (9.5)a=Y-bX (9.6)0

[ b=-1.7800/0.2093=-8.5045a=14.80-(-8.5045)(1.01)=23.3895 4.0
0000000000000 D0000b0a0000O0
0040000000000 0=233895-8504X000 000
000000D00X=080X=120000000X0(000
0000000000000000)0000000000
000000000000 X1=0.80 O 1=23.3895-8.5045

x 0.8=16.59,X2=1.2 0 2=23.3895-8.5045x 1.2=13.1800 [ 0 (0.8
01659)0(12013.18) 000 0000000000000
0000000000(009900000000000 (x
0y)000000000000000000000000
000000 0000000000000 (@)0DO000
000000 00091000000000000bLODOO
0000000000000D00000000000000
000@e=0000000000000b0000000
0000000000000000X0YOOOODOOOO
0000000000000 D0tO00 HOOB =00YD OO
OXOOO HIOR200 000000 (9.7)00Sh0 000
000b0D0O00DDDO0O000 (98)00Syx00000Y
00000000000 X00000000YoDDoooOo
0000000 (90000 100Test 000000000



Jo0o0doodoooodnnd www.100test.com



